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(C7H5-0,), —¥ [X] — 2C6Hs + 2CO,

Question: ©7ICES RGN T g = S ‘X (F TG T

A 0
CoH;—C®

B 0
CeHs—C—0°

c 0
céHs—é—'d

LN



D O
|
C6H5—C—9'
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MgBr
0 P
H,O
+ CHz—C—CH,—C—CHj, > A =27, p
2L TR
MgBr
Question: 071G T T fRTpel 1 ¢ Terim B 6 719 7 |
A OH
HO CHj
CHj;
B OH
OH
¢ OH
H;C
H3C OH
HC CH;
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(A) EHfeTR (@ -wiferE) — F1-S
(B) T #AfTIE — wiZEw-6,6

(C) ©% — qi&W-6,6

(D) 2GR “ffema — GRfem
(E) (Ztieifersia — F7i-N
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f2lCeR el w2

CH,OH(]) + %Oz (g) — CO,(g) +2H,0O()

T OI7[TF I9 WICENREOE NiAtE 27°C SI#@R w0 #iieq Ti7 726 k] mol ! |
@2 e vea-wte (@aeliEtel) 228 —x k] mol ~1. (I x T | (<G sjefeant)

(2@ 2 R=8.3JK~1 mol~1)
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GBI @FiaErea @6 0.5 *oie 7ae — 0.24°C Sl#aE Buifie 27 |« @ihiEreg [
“@ || |

(SR (e S&aee & 1.80 K kg mol ~! «@g KCl & (e ©4 74.6 g mol ~ 1)
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50 mL #if&se 0.1 M CH,COOH (F 0.1 M NaOH i3 237 341 2052 | 25 mL #if&ste NaOH (o
TR 7@ TR pH T3 x 102 (zefzan)

2@ ¢ pKa (CH;COOH) =4.76

log 2=0.30
log 3=0.48
log 5=0.69
log 7=0.84
Ouestion: log 11=1.04
Q:84
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CoCl,-4NH,, NiCl,-6H,0 &= PtCl,-2HCl @8 &6 e (@isisfer ey @ wfefae AgNO, @7 s
faferam 2 (I AgCl (77, ©iF TohTag o 13 I B.M. |
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